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MANAGEMENT
PAPER —1II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1. A firm produces output using labour and capital. If prices of both inputs double, then
the total minimum cost of producing any given level of output is :

(A) Necessarily doubled
B) Necessarily less than doubled

Necessarily more than doubled

D) Doubled provided the firm has constant returns to scale technology
2.  In the long run a firm under perfectly competitive market earns :

(A) Economic profit (B) Normal profit

(C) Super normal profit (D) Sub normal profit
3.  National income at current prices is equal to :

(A) Gross National Product (GNP) at market prices
(B) Net National Product (NNP) at market prices

(C) Net national product at factor cost
(D)

Gross domestic product at market prices

4. A monopolist always charges a price which is :
(A) Greater than marginal cost (B) Equal to marginal cost
(C) Equal to average cost (D) Equal to average variable cost

5.  The Kinky demand curve hypothesis predicts :
(A) Stable costs for the firms (B) Sticky prices in the market
(C) More advertising by the firms (D) None of the above

6.  Organizational behaviour was popularised by :
(A) F.W. Taylor (B) Keith Davis
(C) Elton Mayo (D) David Cock
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10.

11.

12.

13.

14.

15.

The Neo - classical theory of organizational structure was propounded by :
(A) Henry Fayol (B) Elton Mayo
(C) Peter Drucker (D) J.T. Dunlop

The conditioned - learning theory was propounded by :
(A) Thoradike (B) Pevlov
(C) Maslow (D) Luther Gullick

Two factor theory of Motivation was propounded by :

(A) Vroom (B) Maslow (C) Peterson (D) Herzberg
The Book “Human Behaviour at work” was written by :
(A) McGregor (B) Abraham Maslow

(C) Herzberg (D) Keith Davis

Human Resource Management is the management of :

(A) Man (B) Machine (C) Material (D) All the above
Human Resource Planning is the step in the management function.
(A) Primary (B) Middle

(C) Final (D) None of the above

Giving general informations regarding organisation to the newly appointed personnel
is called :

(A) Training (B) Development (C) Induction (D) Promotion

Job evaluation is the evaluation of
(A) Work (B) Worker
(C) Working Conditions (D) All the above

Industrial relations consists of the relations between :
(A) Employer and employees (B) Union and Management
(C) State and Management (D) All the above
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16.

17.

18.

19.

20.

21.

22.

The father of the Employees State Insurance Scheme in India is :
(A) B.P. Wadia (B) B.P. Adarkar
(C) V.V.Giri (D) N.M. Lokhande

Dividend is paid only out of :
(A) Capital profit (B) Current or Accumulated profit
(C) Reserves (D) Cash

Net operating income approach is very close to :
(A) Modigilliani - Miller approach ~ (B) Net income approach
(C) Optimum capital structure (D) None of the above

Point out which one does not effect the working capital of a firm :
(A) Cash (B) Corporate Tax
(C) Current liabilities (D) None of the above

Share capital of a company may be reduced by :
(A) A special resolution

B) An ordinary resolution

By the Company Law board’s permission

By the board of Director

Which of the following statement is correct ?

(A) ARR method makes the use of cash flow after tax

B) Payback method considers cash flows only upto the payback period
Lower the cost of capital, lower the chance of acceptance of the project

Profitability index method does not make use of salvage value of the project

The Green Marketing concept refers to :
(A) Agricultural marketing (B) Environment friendly
(C) Agro - based industrial marketing (D) Euro - Agricultural marketing
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23. The Psychographical factors in Market Segmentation will include :
(A) Income and occupation (B) Sex and Age
(C) Hobbies and activities (D) Living standard and Income

24. In channels of distribution of Industrial products which level is popular ?
(A) Zero level and one level (B) One level and two level
(C) Two level only (D) Multilevel

25. Product Management do not cover one of the following aspects :
(A) Product - line (B) Product - Mix
(C) Product - coordination (D) Product life cycle

26. What are the stages of a product life cycle ?

(A) growth, introduction, saturation, decline

(B) introduction, growth, maturity, decline
(C) introduction, maturity, growth, decline
(D) maturity, saturation, decline, introduction

27.  Which one is the correct sequence of marketing - mix ?
(A) Product, place, price, promotion (B) Product, promotion, place, price

(C) Price, promotion, place, product (D) Product, price, place, promotion

28.  Which one of the following is not the Type of Plant Layout ?
(A) Process Layout (B) Product Layout
(C) Fixed Layout (D) Selection Layout

29. Which factor need to be considered in the location of a plant ?
(A) Availability of power (B) Infrastructure facilities
(C) Marketing facilities (D) All of the above

30. The probability that exactly n customers are in the queueing system
M/M/1/FIFO/ » under steady state is :

(A) Py=(1-p)%p (B)
(©Q Py=(-p)p" (D)
where p denotes traffic intensity

Pn
Pn
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31.

32.

33.

34.

35.

36.

37.

In the EOQ model :
(A) Demand is known and occurs at a constant rate
B) Shortages are allowed

Inventory replenishment time is finite

Both (B) and (C)

Duality Problem is related to :
(A) Markov analysis (B) Inventory problem
(C) Linear Programming problem (D) Queueing Problem

In crashing a CPM network, which of the following is true ?

(A) The first activity to be crashed is the highest expensive activity on the critical path
B) The last activity to be crashed is the least expensive activity on the critical path
When path with the lowest length cannot be reduced further

None of the above

Half percent of the letters mailed in a city have incorrect address. Out of 200 such
letters mailed in a day, the probability of finding at most 3 incorrect addresses is :

8 _1 1 5
(A) 3% B e © e (D) e

The two lines of regression are 3x +2y =26 and 6x +y =231 then the mean of x is :

(A) 3 (B) 4 ) 7 (D) 9

Standard error of ‘1’ is given by :

2
r’—n 1-r 1—r2

(D) o5 ®) - © (D) R

The power of a test of hypothesis is related to the probability of committing the :
(A) typelerror (B) type II error
(C) standard error (D) probable error
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36.

37.
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38.

39.

40.

41.

42.

43.

44.

Which of the following cannot be done by e - mail ?

A) Forward a received message to several people

(
(B
(
(

~—

Send a message to many recipients

C) Place a message on a corporate bulletin board

o

) Correspond with people worldwide

Growing popularity of relational DBMS due to :
(A) User friendliness (B) Report Writing
(C) Better Response time (D) Query Processing

Product / Market Expansion grid developed by :
(A) Chandler (B) Peter Drucker
(C) Michel E. Porter (D) Igor Ansoff

Which one of the following is not the generic strategy ?
(A) Cost leadership (B) Positioning
(C) Ditferentiation (D) Focus

Which ‘S’ is not included in the McKinsey’s 7 S Frame work ?
(A) Style (B) System (C) Staff (D)

Five forces model is used for :
(A) competitor analysis (B) organisational analysis

(C) industry analysis (D) corporate analysis

Which of the following book is not written by Michel E. Porter ?
A) Fortune at the bottom of the Pyramid

B) Competitive strategy

C) Competitive advantage

D) Competitive advantages of nations

J—1706 12

Selection



38.

39.

40.

41.

42.

43.

44.

e - He ¥ freAfafed & 9 ®F o1 T & Hoha §2
(A) T HAR] I Sgd A doh qga
(B) gd ¥ ATl I HAIG TS
(C) HIURE Foifed e T g1
(D) forgereamdt T W ARl | Halig e

v &, . 3. TY. 9l Ak U S HR B

(A) 3TN w4t & | e (B) wfdaed oied
(C) F=8 GfagT ¥HI (D) =TS Hishan
FE/eTSIR TR fire forersiia feran

(A) <SR % gN (B) TR TR & §W

(C) WEHA 3-UIX % §N (D) SR 3TH% o §N

frafafaa & @ == @ Hifas wEfa T2 %)
(A) WP g (B) =gaEH
(C) faudieww (D) T

o Y % 7 TE. % &< H ®H 91 ' TH’ gefed T8 2
(A) WEd (B) fafed
(C) wWH (D) HelRM

-9 Hise 1 ST B & |
(A) Yfaedr fagero (B) HieTIH fawerwor
(C) e feawerom (D) frm fereroo

Frfafed e | 9 %A W WEwd 3. 9o & gN T8 fa! T |
(A) e TE S dfen offw f fufae (B)  hedida weost

(C) wHiéa Tedies (D) e Tedies 3w Jed

J—1706 13

P.T.O.



45.

46.

47.

48.

49.

50.

“Innovation and Entrepreneurship” was a book written by :
(A) Philip Kotler (B) Henry Fayol

(C) C.K. Prahlad (D) Peter F. Drucker

Industrial sickness can be caused by :
(A) Lack of market demand (B) Product obsolescence

(C) Competition from big industries (D) All the above

Sick units are referred to :

(A) RBI (B) SIDBI (C) NIRD (D)

Value based organizations are :

(A) Those which are having high market share
(B) Those which are having high share price
(C) Those which declare high dividends

(D) Those which follow ethics and social responsibility
Environmental ethics refers to :
(A) Quality of the product (B) Price of the product

(C) Unfair trade practices (D) Pollution

Corporate governance deals with :

(A) Society (B) Employees
(C) Organization (D) All the above
-00o0-
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